Problem 10.34

In a balanced three-phase delta-delta system, the source has an abc-phase sequence.  The phase angle for the source voltage is 
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 A rms.  If the total power absorbed by the load is 1400 W, find the load impedance.

Suggested Solution


[image: image3.wmf]1400

1400 W          466.67 W

3

total

L

PP

f

=Þ==


Since 
[image: image4.wmf]40

ab

Ð=°

V

 and 
[image: image5.wmf]415

ab

=Ð°

I

 A rms     
[image: image6.wmf]Þ

     No line impedance


[image: image7.wmf](

)

cos4015

ABAB

P

f

=°-°

VI



[image: image8.wmf]466.67

128.73 V

4cos25

AB

==

°

V

 rms


[image: image9.wmf]128.7340

32.1825 

415

AB

L

AB

Ð°

===Ð°W

Ð°

V

Z

I


_1059847702.unknown

_1059848234.unknown

_1059848462.unknown

_1059848643.unknown

_1059848455.unknown

_1059847739.unknown

_1051707018.unknown

